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Directions:-
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(iii)
(iv)

(V)

There are all 26 questions in this question paper. All questions are compulsory

Marks attached to the questions are mentioned against them.

Read each question carefully and answer to the point.

Question no,1 is multiple choice question, in which 8 questions are MCQ and 2 questions are Assertion
and reason-based. Write correct option in your answer book.

Each part of one marks each. Question no.1 carries one mark. Question no. 2 to 5 are of one marks
each.Question no. 6 to 15 are of two marks each. Question no.16 to 23 are of three marks each.
Question no. 24 to 26 are of four marks each.

There is.no overall choice in this question paper, however an internal choice has been provided in few
guestions. Attempt only one of the given choices in such questions.




1.

® o9 WETRIT JAUT ISR Th & TAT R IRIFT g1 & O Ig Fgarar &-

When anther and stigma mature at the same time ; it is called—

(1) YR
"Homogamy

(1) gYAECTS el
Homostyly
(iii ) gAY
Hercogamy

(iv) STSPIRTHT

Dichogamy
T 3RTe FHIfAST arfy Frr §-

Interstitial cells are found in-

() =

In the liver
() goFnH

In the kidney
() — guor A

In the testicles
(Iv) 3781 &
In the ovary

a1 fArAfaf@a # 8 fraer fAgurd Siiad $r 3cufa @ a&fad 781 8-

Which of the following theories is.not related to the origin of life?

(1) - EoTel THOR
Stanley Miller
() T3S 3R
A.l .oparin.
(i) ST THEEesT
J .B .S Haldan.
(iv) HTeIH
Malthus

g _fawmop FhaAor & 6T & fov RR Aefaf@d & @ el i ger i aideT
3cee] AT 6—

Which of the following is special types of proteins does the body produce to protect itself
from viral infection-

() gHAled




Hormones

(I1) NEIEL]
Enzyme

()  comiEesd
plastids

(IV)  SUSTHIA
Interferon

s mmﬁwmﬁﬁ-

Molecular scissor used in biotechnology are-

(1) 3TAT ST

DNA Ligase.

()  3TAT YIfrFsT

DNA polymerase.

()  gloeper

Helicase.

(Iv)  gfdeee USiegfedotel
Restriction Endonuclease
T WollgR diel & Sist & Fefed Sfiary &-

The bacteria associated with the root of leguminous plants is-

(i) TIEHEAH

o
Pseudomonas

(i) Tolerseel
Azotobacter
(i) SFeSfTeHT
Lactobacillus
(iv) . TSI

Rhizobium

o Bt AV fohdy HIETH A AThT BT 8-

In which mediumis Bt poison active?

(1) IFFAT pH R
()  3&rEeT pHER
() &R pHW

(Iv) f&1 a9
T dSHhd ToAd &-

Lichens are formed from-

At acidic pH.
At neutral pH.
At alkaline pH.

At low temperature




(n GﬁEITUI g ®ds A from bacteria and fungi.
(ii) darer T GﬁT:I'I'UI & from algae and bacteria.
(i) g g d¥arard  from fungi and algae.
(iv) shaeh g fasmor & from fungi and virus.

A& 9T TEAT-1 & 319Tel oY WUST F |, & FUAT I ATHFAT A TAT HRUTR &
&0 A Rfegd fohar aman g fAwfaf@d @eaedt (i), i), (i) T>r (iv) & 8 Jeieht geTeht
TEr 3T ST

Direction : In next two part of Question No-1, there are two statement labelled as
Assertion A and Reason R from the following options (i), (ii),( iii),and (iv), select the
correct answer.

(i) A TAUT R G WET & dT RAHT Hel ST AT ¢

Both A and R correct and R is the correct explanation of A

(i) A TAT R ST HEY § R R/A T HEN SAEAT g AT g
Both A and R correct but R is not the correct explanation of A.
(iii) A FET & T R T &

A'is correct but R is incorrect.

(iv) A JUT R Sl ITed &l

Both A and R are incorrect.

3fAFUT (A) - gonfa Hr T =1 warg gHT IRTGT 9T 95T &l
HROT(R)- Fonfaar fafauar &1 fafkse g & Tar RS # Ageaqor s{fae
[GEICIN

Assertion(A)- Extinction of species affect the entire ecosystem.
Reason ( R)- species are a.unique unit of diversity and play an important role in the
ecosystem.

fAFUA(A)- IS & # 9 ffayar waifas g §
FROT (R )-3SUTHfeae™r 8 ¥ F3it 7 3710 3w 787 g ¢
Assertion (A)- biodiversity is highest in tropical region.

Reason ( R)- there.is.not much difference between the seasons in tropical regions.
STESSITOTETAY AT WIS T FIH HedReh TR T AT Fgd &7
What is'the innermost layer of microsporangium or pollen cyst called.
a3 ST gerelleh fohd 3 ATH @ STl ST 82

By:what other name is invitro fertilization technique known?

T HhRd %I & aAlersy T Slisesy 3gdrd i@

Write the phenotype and genotype ratio of a hybrid cross.

3AUES & fohegl &l SET 3Tl & ATH faf@u]|

Write the name of any two national parks of Uttarakhand.

ToTel AOR o YT FT TATS AHIhd [T dAST|




10.

11.

12.

13.

14.

15.

16.

17.

18.

Draw a clean labeled diagram of Stanley Miller’s experiment.

aﬁ%’aﬁaﬁnavﬁmaﬁﬁa'g’maaﬁmmavﬁmalmm
HASSU|

No child was born colour blind even though their father was colour blind. Explain with
reason

Ush GRUFT GRIETHUT dT HIC T ATHI A [OF SI180| STF fohoal Gl AN &
YT R IS8T

Make a labeled diagram of a section of a mature pollen grain and tell the main function of
any two of its parts.

A3 7 IHTRAT & AT FIS & FROT FABTI

Give any two reasons for female infertility.

Fd& daud & ar 33Uy faf@u|

Write two uses of tissue culture.

STATSYHT T §7

What is Biopiracy?

qIikdd & A WIET STl HT FAT FAZd o7

What is the significance of a food web in an ecosystem?
3rydr/or

qied HGeT & Jolell H Tied SiTel. Ueh, IIRIEATIhT oF 1 31T ERar Ha
gaTeT adl &?

How does a food web provide greater stability to an ecosystem compared to a food chain?
39T AT T TAATT gt & AEe H- g ganfa &1 g9 fmar srar & 2
Which species of yeast is used in making bread and ethanol ?

31ydt/or

GE T Ueh AT W AT Aol g il &8l Sellel H 8 Heg lal o2
How does the addition of‘a small amount of curd to fresh milk help formation of curd?

greur 1 Sfa fafaerar $r mar wiorar & snfa fafayar ifte Aeadr § sRor
ERIELNG

Species diversity is more in animals tha n in plants, explain the reason.

8 ST g% FALE ?
What is'red data Book ?
ST (SIRTTEIATAOT) dAhellch FAT g2 UIGT Slelel DIRIKH H Ig Hd 39N g2
What is bagging technique? How is it useful in a plant breeding programme?
AGIEISISS $IF Sl HFIAT ¥ Hosel & JUFHU & [FH &l TISC A2

State Mendel's law of segregation with the help of monohybrid cross?.

T grATIferr Ivd T, grrdifer 1 Siet 3a 9T A FaRd Fir 76 )
Hhdl SITEAT HITAT|




A father suffering from haemophilia can never transmit the gene of haemophilia to this
son. Explain.

19. WehRATCH 3R THRACH # Jldo@e & A Sl TASST
Describe the differences between transcription in prokaryotes and eukaryotes.
31gar / or

3 TEANT &1 U A S gg FANOIT el & fob Suev rmepaiies @l gl
Explain the experiment which proves DNA is a genetic material.

20. FT 3T 0IT Arad & fh AT R i 3edlgd / 399 o & T wefad
F ohd ¢ ? Ife &7 af IfFa 0F gHEa O 379 39! FH 997 Fhd 8?

Do you think friends can influence one to take alcohol/drugs ? if yes, how can one protect
oneself from such influences ?

21. TR F I AT @ F F dg e 31w R
Write three differences between traditional agriculture and biotechnology agriculture.
3ydr / or
Sig diegifaehT & Aesfaf@d @ sifaer &1 caredr Hifoe-
Explain the roles of following in biotechnology -
()-FAeed T[T |
Restriction Exonuclease.
(@)-Sta faegd ot Ferel|
Bioelectric particle movement.
(37) -pBR322 H TUIcHS fdegahl
Selective markers..in pBR322.

22. afdT 39asT FAT §? 33T oiF fafdear & e § Far HiAE § 2

What are sacred groves? What is their role in conservation of biodiversity ?
31dr / or

FAfa@d &1 IR SIS0 T Ucddh T Teh-Uah 31807 GIall-

Define the following and give one example of each.-

(%) TEsITST
Commensalism.

(@) gLeifadr
Parasitism.

(37) g Sfaar

Mutualism

23. qRfEATAHT 97 H FT & YdIg T HAged gdIv|
Explain the significance of energy flow in an ecosystem..

24. WWWW%WWW%@?@WWW%

(1+1+1)

(1+1+1)




25.

26.

T AR T =
Make a clearly and neatly labeled diagram showing the details of the parts of a typical

angiosperm ovule.
3{yar / or

() FH T wh F ASRAA T HAFT A QA 2 TR A @A 242
arel IRadal T JHIT Ty |
What is the role of progesterone in the menstrual cycle? Discuss the effects of
changes in its levels.

(@) ATAT Y YH1U] T AT FI JUIA RIS

Describe the structure of a human sperm.

g3l ATSATI-HTEAT FIT §? UIT geeh adisU Sl 3H TRFIAT &l JHTad i ol 4
What is Hardy-Weinberg equilibrium? State Five factors which affect this equilibrium.
3dr / or

cfaHe IH T Heg ¥ HSAT & T HIggel . [AIH F1 auleT |

Describe Mandel's law of independent assortment with the help of dihybrid cross

fAFfafld 3eTede 1 eaEgas 9fer qUr 38 = QU 71T geat & 3R (1+1+2)
faf@u-

Read the following passage carefully and answer the question given below —

TN FEASIE! & IUAET § FAC Sl el FEH Wl Tl verdt # 4
TS §| TE UF §IY 3cUIGA | qU H Tehfead X & Gall UX FHH alel 7T
fo¥ehel ST §1 B &7 € Welll Blel g1 3iToiehel fAffesT gEHASial &l 39T
F{eh TNE-NE & YeiR A0S & | IR Sl 7 ST foham orm geasia &
39 fARISe aTes, Fore g F&ie Jerel Al gl
Cheese is one of the.oldest food products made using microorganisms. It is a dairy

product. When milk is coagulated and pressed, its liquid part is removed .The solid part

is cheese. Nowadays, different types of cheese are made using different
microorganisms. The microorganisms used in making cheese give it distinctive texture,
aroma and taste.

() TFHIC TAR Tl H HleA-AT FEASNG YA foham ST §72
Which microbe is used in making Roquefort cheese.

([@VFHE TR Fad IR & Fg @R 3T 2l
How is Roquefort cheese different than Swiss cheese ?

(MR # R T & AT gerereor v @l A fafer &
39T fohT ST 87

Which method of separation is used for making cheese at home?




